o0 @ 'Y R 10768A Diagonal

Measurement Kit

@ Data Sheet

The following components are included:

2 Post (medium) 111 g (3.9 0z)

1 Post (long) 228 g (8.0 0z)

1 Post (stub) 42 g (1.5 0z)

1 Hex Key (5 mm)

1 Hex Key (4 mm)

1 Hex Key (2.5 mm)

2 Right-Angle Clamp 68 g (2.4 0z)

1 Beam-Steering Assembly 354 g (12.5 oz)
2 Adapter Plate 36 g (1.3 oz)

1 Base (large) 832 g (29.3 0z)

1 Flexible Ball-Joint Assembly 123 g (4.3 oz)
1 Alignment Target 11 g (0.39 oz)

1 pkg Lens Tissue

1 Adjustable Triangle

1 Setscrew (brass tip, M10 x 1.5)

1 Setscrew (brass tip, M5 x 0.8)

4 Cap Screw (socket-head, M3 x 25 long)

1 Setscrew (M10 x 20)

4 Flathead screw (M3 x 0.5 x 16 long)

-

~3:%- Agilent Technologies



